20212022/ — T M4A BIP B % (LHEHEZTEI P E)

1. 3P -

BAV =0 RN R O
A.30° B.60° ¢ 120° D 150°

2. IR -

1
[2013- b HEEFEAABCH, a=3, b=5, sinA=3, MsinB=()
1 5 5
A.5B.9C.3D. 1

3. EHEE Q&
AP (2, -2) BT FEL 2x+y+1=0MBELRHTERN ()
A.2x+y-2=0 B.2x-y-2=0 C.2x+y-6=0 D.2x+y+2=0

4. WH -
2 = g 2 U =y B B o ()
A A3¥1 B. A3 C. M D. A

5. IEFEE
BHELm - 2=0 51t - Dy 25 U247 Mo EA O
A.-1B.1 C.28¢-1 D.2

6. B
SR a SN S EE RS 370 bRARERE RN 2B R EER O
A G - DP AT (e P +(y -1 =4
C. =D+t K2 D -1+ D=4

7. R FERR
B=

ENABCH, A, B, CHIXHASH N b e, Hb=1, %, sind=~3snC | | AABCHITH
BN O
3 BB

AMIB4AC 4 D 2

8. IEFERR
PRESLx+y-2=0 L I—3) A, TAPHECGTD -8 =431y, MWIRKKRMER O
A2V2 B3 coD.2v2-2

9.

EAABCH, =AMWASHIANA, B, C, THLEREHRKZ (O
A.sun[ﬁ'(:} sin A B,%[_‘L]S_-‘l:}o’ mljzﬁ%A’ B, C%@ﬁﬁzﬁ%
C.L'US(E"C} =cosd D_% sin 4 =sm 5 , )I'lUA:B




